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QUESTION 1

Your corporate network consists of four data centers. Your data centers are already running EVPN-VXLAN over an IP
fabric. You are asked to design a strategy for Layer 3 data center interconnectivity.

Which two methods would satisfy this requirement? (Choose two.)
A. EVPN Type-6 routes

B. L2VPN

C. L3VPN

D. EVPN Type-5 routes

Correct Answer: CD

QUESTION 2

You want to deploy chassis clustering to provide high availability on the SRX Series devices that are securing your data
center.

In this scenario, which statement is correct?

A. GRES can provide high availability.

B. NSR can provide high availability.

C. MC-LAG can provide high availability.

D. The reth interfaces can provide high availability.

Correct Answer: D

QUESTION 3

You are designing a Data Center Interconnect (DCI). You must ensure that the local PE learns the local MAC addresses
and then distributes these learned MAC addresses to the remote PEs using the control

plane.

In this scenario, which DCI solution will satisfy the requirements?
A. Ethernet VPN

B. CCC

C. BGP Layer 2 VPNs

D. BGP Layer 2 circuits
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Correct Answer: C

QUESTION 4

Click the Exhibit button.

US Data Center UK Data Center
203.0.113.15 203.0.113.15

China Data Center AUS Data Center
203.0.113.15 203.0.113.15

Which two statements about the redundancy design shown in the exhibit are true? (Choose two.)
A. User traffic must be policy-routed to the active data center.

B. Multicast IP addressing is in use.

C. Inter-server traffic must use an alternate IP address.

D. Anycast IP addressing is in use.

Correct Answer: CD

QUESTION 5

Click the Exhibit button.
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End-of-Row Deployment

High Density Switch =
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Compute and Storage Devices

Given the physical layout of the data center shown in the exhibit, which two statements are correct? (Choose two.)
A. A single access tier exists for an entire row of servers.

B. Each rack is managed as a single unit within the data center.

C. Cable run lengths are minimized.

D. The layout requires minimal uplinks.

Correct Answer: AB
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